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i RO S ABKH; (ppm) B (ppm)
ToE=T 1 2

AT IV AV TSR 0.002 0.004
FelLk 0.02 0.06

fifb A F v 0.01 0.05

NI AF LTI 0.005 0.02
i b AT 0.009 0.03
TERTATE R 0.05 0.1

AF L 0.4 0.8

A= AV 0.03 0.07

J L~ )L g 0.001 0.002

J IV~ )V B 0.0009 0.002

AV EHER 0.001 0.004
Tavt 7T e R 0.05 0.1
V= VTFILTILTE R 0.009 0.03
AITFALTILTE R 0.02 0.07

IV AN LALT LT R 0.009 0.02
AIRVATILTE R 0.003 0.006
AT H)—) 0.9 4

FEfE — F L 3 7
AFNA I TF Nl b 1 3

[\ %= 10 30
oLy 1 2

A 4 SRR TR SR 2 1 A CRHE L E LT,

AR SRR A7 LTV E

L R R (HA + ppm)
P A A yor=7 | Wik | 7 ;ﬁ;" v

| [iTES AEAGET H 26 N.D N.D N.D
Wittt & — <0.1 <0.002 < 0.0002
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